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In a market economy, consumers’ (buyers’) interest is “consumer surplus” noted as CS = U – P, where U is the utility of a product or service, while P is its price.  Only when the consumer surplus is greater than zero, consumers will buy.

On the other hand, the supplier’s (sellers’) interest is profit, which is noted as ∏ = R – C, where R is revenue and C is cost.  If the profit is less than zero, the supplier will not sell nor produce.
Adding the above two equations, we get CS+∏ = (U–P)+(R–C).  However, since the price paid by consumers is also the suppliers’ revenue, the equation becomes
CS + ∏ = U – C.
In this equation, the left hand side is the called “social welfare”.  This is because any market only has buyers and sellers these two parties.  Thus, social welfare, i.e., the sum of the two parties’ interest, is naturally the unbiased public interest. 
The right hand side of this equation is the market’s productivity.  This is because U is the utility, i.e., the usefulness and quality, of the product or service.  Obviously, the higher the utility and the lower the costs, the higher the productivity will be.  It should be noted that, both the utility and cost are fully controlled by the supplier and nobody else.
The goal of any government or regulator is to maximize the public interest or social welfare, while the only way to do this is to maximize productivity.
However, since the goal of any suppliers is to maximize profitability, they see this equation in a different way, as
∏ = (U – C) – CS.
That is, in order to maximize profitability, not only they may maximize productivity, but also may minimize consumer surplus which is the buyers’ interests.

The difference between these two ways is that, the public interest (social welfare) is increased by increasing productivity, while public interest is not increased by harming consumers.  However, because increasing productivity is often hard to do, especially in a competitive market, suppliers more than often try to harm consumers in order to get more profits.

Therefore, the only way to maximize the public interest of any unbiased government is to protect consumers’ interest, thus forcing suppliers to focus on increasing their productivity, i.e., to increase the utility and to lower the costs of their products and services.
Similarly, as ICANN claims to work for the public interest, the only way to do so is to protect the end-users’ and registrants’ interest.

